Q-1

eng

ST-24 RRB CLERK (PRE) 2020

In each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them
is/are definitely true and give your answer accordingly.

Statements:
D<Y=0>],Y>H>G,J>T>P
Conclusions:

L. Y>G

II. O>P

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.
03. TIfeither conclusion I or II is true. 04. TIfneither conclusion I nor II is true.

05. Ifboth conclusions I and II are true.

Frafafaa v & 3 13 v@AF FATF7 9 797 gD, 19 K 5 A7 73 13 Y fasad 1z F sraarfRfaasedaag
FHTIE TFTTF AIATIAL RN

FYT:
D<Y=0>J,Y>H>G,]J>T>P
faswe:

I. Y>G

II. O>P

01. =fg Fae Aed [ 97 8 02. =f3 Faer Aoy 1197 B
03. =rfg 7T ar Aed [ 37 11 97 2 04. fg T ar fAed [ & 119 8
05. =fg e [ 11 T41 a7 Bl

Solution for Question 1

eng

hi

Q-2

eng

Q-2

hi

L Y>G(®)
I.O>P (V)

L Y>G(®)
I.O>P (V)

In each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them
is/are definitely true and give your answer accordingly.

Statements:
D<Y=0>J,Y>H>G,J>T>P
Conclusions:

I. D>T

II. P<Y

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.
03. TIfeither conclusion I or IT is true. 04. TIfneither conclusion I nor II is true.

05. TIfboth conclusions I and II are true.

Frafafaa w97 # 3 13 7@ F FI9 F7 97 A9q 2, I1a RIS FF A= G 13 Sy fssd 1 F sraarRfaasca g g
M TIAT THTLH AIATIALR|

FAT:
D<Y=0>J,Y>H>G,]>T>P
e

I. D>T

II. P<Y

01. Ff3 Faer Aoy [T B 02. 7fy Faer Aoy 1197 8
03. rfe =7 a1 fAee 13T [ 97 ) 04. Frfy 7 qr fAewT [T 1T B
05. =rfy fehe 137 1 <41 77 81

Solution for Question 2

eng

l. D>T(x)
I P<Y (V)

I. D>T(x)



I. P<Y (V)

Q-3 In each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them
eng is/are definitely true and give your answer accordingly.

Statements:

C>Q>8<G,D<Z=C>]J, J<K<R

Conclusions:

I. K>Q

II.Q>K

01. Ifonly conclusion I is true. 02. Ifonly conclusion 1L is true.

03. Ifeither conclusion I or IT is true. 04. Ifneither conclusion I nor IT is true.

05. Ifboth conclusions I and II are true.

Q-3 frraforfaa i 8§ &3 73 7@ & F97 F7 a7 9179 §2, I19 F119¢ 35 419 73 13 Sy fasswd 1z 1§ stvarfafaasosad aca g
hi AT IHT THRTTH HAIATIALR|

F:
C>Q>S<G,D<Z=C>J, J<K<R
Ao

L. K>Q

ILQ>K

01. =fg Faer Aed [T 8 02. =fy Faer Aoy 1197 2
03. otz 77 a7 Ao 137 1 51e7 21 04. fg 7 ar fAesd [7 21 18T 2
05. =t fAewy 1 97 11 39T 77 2

Solution for Question 3

eng . K=2Q (x)

. Q>K(x)

Either conclusion | or Il is true.
hi I K2Q(x)

. Q>K(x)

I @ Ay |4 Il a2

Q-4 In each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them
eng is/are definitely true and give your answer accordingly.

Statements:

C>Q>S<G,D<Z=C>J,J<K<R

Conclusions:

I. Z>S

II. R>Z

01. Ifonly conclusion I is true. 02. Ifonly conclusion II is true.

03. Ifeither conclusion I or IT is true. 04. Tfneither conclusion I nor IT is true.

05. Ifboth conclusions I and II are true.

Q-4 Frafafaa vt & 33 13 w@AF FATF7 9 797 gD, 19 R FF 7 73 13 Y fasad 1z nF srrarfRfaasvdaag
hi FHTIHE TFTTF AIATITAL RN

ERCH
C>Q>S<G,D<Z=C>],J<K<R
Ao

I. Z>S

II. R>Z

01. =fg Fae Aed [ 97 02. f3 Faer Aoy 1197 8
03. rfg 7T ar Aed [ 37 11 97 2 04. fg Far Aed [ & 119 8
05. zrfg feh 19 11 T41 a7 8l

Solution for Question 4

eng . Z=S (V)



Il. R>Z(x)

hi . Z=S (V)
II. R>Z ()

Q-5 In each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them
eng is/are definitely true and give your answer accordingly.

Statements:
R>S>P<T, M=P>Q
Conclusions:

I. R>Q

II.M<R

01. TIfonly conclusion I is true. 02. Ifonly conclusion II is true.
03. Ifeither conclusion I or I is true. 04. Ifneither conclusion I nor II is true.

05. Ifboth conclusions I and II are true.
Q-5 fraforfaa woi 8§ &3 73 7@ & F97 F7 9 9170 §2, 79 F119¢ 35 419 f73 13 Sy fesd 1z # stgarfafaasod aca g
hi AT IAT THTTH AIATITALR|

FI:
R>S>P<T, M=P>Q
fAase::
L R>Q
I. M<R

01. =fg Faer fAed [9e7 2 02. =fy Faer Aoy 1197 2
03. rfg 77 a1 AeRd [ 37 1 977 21 04. fg 7 ar fAesd 1721 1187 21
05. rfy fehe 197 1 <41 97 81

Solution for Question 5

eng . R>Q (V)

1. M<R (V)
hi . R>Q (V)

1. M<R (V)
Q-6 A person walks 8km towards south and then he turns towards east and walks 6km. Further he turns towards right and walks 4km. Finally, he turns
eng towards west and walks Skm. Now, how far is he from his second turns? (approx.)

01. 6.40 km 02. 2.12km

03. 1.54km 04. 4.86 km

05. 3.11km
Q-6 T SAT<h (o707 it S § ForeT =rerar 2 o< o ag & i1 W< q2aT & 3 6 foheT =erar g1 q7: 98 10 T 42aT ¢ 307 4 T =erar 81 eia &, a8
hi ofere T S JSAT 2 T S5 TRt o 21 31, a8 I gAY 7S | ohawl g2 & 2(RTH)

01. 6.40 et 02. 2.12 Y

03. 1.54 3t 04. 4.86 et

05. 3.11 fft

Solution for Question 6

eng

)
e




Q-7

eng

Q-7

hi

?7=0640

If the digits of the number 197364682593 are arranged in descending order then how many digits will remain unchanged?

01. One 02. Five
03. Four 04. Three

05. None of these
T HE=AT 197364682593 F 37T T Fa<rat w7 W Fafeqd Frar Strar 8, a7 U= faaw of & St srafvatda =i

01. T 02. =
03. 9% 04. =
05. =% FFTIE AL

Solution for Question 7

eng

eng

1
9

(WO WO

73614682593
8766543321

[y
(WO WO

73614682593
8766543321

How many such pairs of letters are there in the word “TRANSLATE” each of which has as many letters between them in the word as they have between
them in the English alphabet?

01. One 02. Two
03. Three 04. Four

05. More than four
5% “TRANSLATE” ® 3721 % UH fohal T30 & IS8 & o o = 9158 | 3a+ &f &7 & forae o6 37e &= SHSir aviaTer 9 2rd 82

01. ws 02. =T
03. &= 04. 91T
05. =TT 7 srferw

Solution for Question 8

eng

—
TRANSLATE

—
TRANSLATE

Passage for Question 9, 10, 11, 12, 13 (ST-24RRBBCLPRE(9-13R)2020)



eng Passage
Read the following information carefully and give the answer of the following questions:

Six persons A, K, T, W, Y and Z and Raja all are sitting in a row, facing towards the South direction. All like different cities as Lucknow, Kanpur, Delhi, Mumbai,
Bhopal and Pune (Not necessarily in the same order).

The person who likes Delhi is sitting at the left end of the row. Y is sitting just left to T and A does not like Bhopal. Z is sitting third to the left of A and second to the
right of K. T and W are not sitting at an end of the row and like Kanpur and Mumbai respectively. Z likes Pune.

hi Passage

LA TEATTFTE FT LAY F dg ot T Frwferfaa vt & saedfvT

T ARE ALK, T, W, Y 31T Z a+ft U ufce & aferor 7 ore g e 9 81 T SToRT- 3700 9I8¥ S¥- 9@, F, e, s, aramer e qor a6e F3d
g (ST T == T FF /g

faeett 1 qeig e e =i 9 F 910 G T SBT3 Y, TF A 910 9371 8, 37T A &7 997 T80 T2 g1 Z, A F 978 F o I+ 2 957 8 T K &
T AL I UL T27 g1 T 3T W OfRF F 3d § 7gl 95 g 3T HHeT: FE ¥ {as T68 Fd gl Z FH 07 79 2

Q-9 Which of the following persons likes Lucknow?

eng
01. 7 02. K
03. W 04. v
05. A

Q-9 Referfad & & i |1 2Af<F d@as, F THE Hdar g2

hi
01. 7 02. K
03. w 04 Y
05. A

Solution for Question 9

B R R AR A

A T Y Z W K
Lucknow Kanpur Bhopal Pune Mumbai Delhi

VR

A T Y Z W K

Q-10 Which of the following persons is/are sitting at the right end of the row?

eng
01. 7 02. K
03. w 04. v
05. A

Q-10 fA=forfeEd & & F1 &7 =4t Uith & a0 GI¥ 9T 927 82

hi
01. 7 02. K
03. W 04. v
05. A

Solution for Question 10

n R AR

A T Y Z W K
Lucknow Kanpur Bhopal Pune Mumbai Delhi

00@0{5{5

A T ¥ K
mwﬁmgﬂgﬁé feweh




Q-11

eng

What is the position of that person who likes Kanpur?

01. Fifth from the right end 02. Second from the right end
03. Third from the right end 04. Second from the left end

05. In the middle of the row
I SATH T I FT & ST FEAIE AT THE FAT 82

01. =0 B & qi=ar 02. =0 P gaT
03. =70 Z & TET 04. a0 T 7 gaT
05. OfFF Hea 7

Solution for Question 11

eng

Q-12

eng

R R AR

A T b4 ¥ W K
Lucknow Kanpur Bhopal Pune Mumbai Delhi

v v v v v

A T ¥ Z W K

What is the position of Z with respect to Y?

01. Justleft 02. Justright

03. Second to the left 04. Second to the right
05. Third to the left

Y % dad # 7 #1 fRafa #r 82

01. gt 02. qiq AT

03. 10 FHT 04. =TT gAT

05. 973 drexT

Solution for Question 12

eng

Q-13

eng

Q-13

hi

R AR

A T Y 7Z W K
Lucknow Kanpur Bhopal Pune Mumbai Delhi

v v v v v
A T Y Z W K

Which of the following persons is/are neighbour of K?

01. 7 02. T
03. W 04. Y
05. A

Refarfaa & & 19 91 =16 K 1 92H6 82

01. 7 02. T
03. w 04. Y
05. A

Solution for Question 13

eng

R R AR A

A T Y Z W K
Lucknow Kanpur Bhopal Pune Mumbai Delhi



Q-14

eng

The following questions are based on new five-four digits number.
3583, 6352, 8973, 5479, 2682

When the digits in five numbers are written in reverse order within the number then five new numbers are obtained. Which of the following original number
retains the same position from left when new number are arranged in descending order?

01. 3583 02. 6352
03. 8973 04. 5479
05. 2682

o oy T AT F R T F=ITH T AT B
3583, 6352, 8973, 5479, 2682

ST OF= TEATAT | 3ehT T HCAT % o< 3o w7 | foraT Srar g av ui= 7Y Feamd aTe Sy 81 e 7S SeATs h Aaast w4 § ateaq fhar
STaT g ar, fFeferfera ® & F9-Y der ard 7 3 e" e g?

01. 3583 02. 6352
03. 8973 04. 5479
05. 2682

Solution for Question 14

eng

Q-15

eng

3583, 6352, 8973, 5479, 2682
3853, 2536, 3798, 9745, 2862
9745, 3853, 3798, 2862, 2536

3583, 6352, 8973, 5479, 2682
3853, 2536, 3798, 9745, 2862
9745, 3853, 3798, 2862, 2536

The following questions are based on new five-four digits number.
3583, 6352, 8973, 5479, 2682

When the digits in five numbers are written in reverse order within the number then five new numbers are obtained. Which of the following will be the fourth
digit of the second highest new number?

01. 5 02. 9
03. 2 04. 3
05. None of these

N T AT A HTT G AT T AT 7
3583, 6352, 8973, 5479, 2682

Tfa af= SeaTell | Siehr T TEAT % 357 o w7 § foraT Srar & 1 ai= 7Y weard e gt 81 Feforfed § & g qad 2t 7t " v =ty
3 FIT ZIIT?

01. 5 02. 9
03. 2 04. 3
05,z & 4TS A

Solution for Question 15

eng

3583, 6352, 8973, 5479, 2682
3853, 2536, 3798, 9745, 2862

3583, 6352, 8973, 5479, 2682
3853, 2536, 3798, 9745, 2862



Q-16 The following questions are based on new five-four digits number.

eng
3583, 6352, 8973, 5479, 2682

When the digits in five numbers are written in reverse order within the number then five new numbers are obtained. Which of the following will be the third
digit of the third number from the left when the new numbers are arranged in descending order?

01. 4 02. ¢
03. 9 04. 8
05. None of these

Q-16 MAITITIATTHRT T T AT 81
3583, 6352, 8973, 5479, 2682

ST I HEATSAT | ST T AT o AT Io /7 H [o@T ST g qr T 747 AT TTH It g1 T 7% HeATSA Tl AT 77 § Aqtead =Ham
STTAT g A fAeferted & 9 a1 | Sred ST A7 (6T 6% Fib-97 82

01. 4 02. 6
03. 9 04. 8
05. =% # AL T

Solution for Question 16

eng 3583, 6352, 8973, 5479, 2682
3853, 2536, 3798, 9745, 2862
9745, 3853, 3798, 2862, 2536

hi 3583, 6352, 8973, 5479, 2682
3853, 2536, 3798, 9745, 2862
9745, 3853, 3798, 2862, 2536

Passage for Question 17, 18, 19, 20, 21 (ST-24RRBBCLPRE(17-21R)2020)
eng Passage

Read the following information carefully and answer the questions given below:

7 students A, D, K, M, T, Y and Z are sitting around a circular table facing towards center. A is the neighbour of both M and N. There is one person sitting
between K and Z but he is not Y. K sits on the immediate left of N.

hi Passage
Fafafaa sTasrd &1 eamgd® seggawT A= 33 13 w1 F s

7 fa=mmiT A, D, K, M, T, Y 3T Z UF TR A & AT AT FF 60 AT TG FF 95 81 A, M 3T N A1 F1 T2 g1 K 3T 2% 91 UF AE 927 8,
ATHT a8 Y T2 81 K, N F qhTet 914 971 gl

Q-17  Who are the neighbours of D?
eng

01. KandY 02. MandY
03. KandZ 04. ZandM

05. None of these
Q-17 RFIEETHITE?

hi
01. KTy 02. MaITY
03. KTz 04. Z=TM
05. = T TS TS

Solution for Question 17

eng N



Q-18

eng

Q-18

hi

eng

Y| B

Y L D
z
N
A
M K
Y L D
z

Which of the following pairs does not sit adjacent to each other?

01. YM 02. NA
03. 7zMm 04. KD

05. None of these
A & & FIF-A7 SET UH-gHY % Aqiwrehe 7gl 927 82

01. YM 02. NA
03. 7ZM 04. KD
05. =% T IS AT
Solution for Question 18
N
A
M K
X | D
&
N
A
M K
X | D
Z

Q-19

eng

eng

Which of the following persons sits adjacent to each other?

01. DZN 02. DKA
03. ZYA 04. AMK

05. None of these
A & F F9-9 =G UH-gA F qierehe 95 52

01. DZN 02. DKA
03. 7ZvyA 04. AMK
05. =9 ¥ s AT
Solution for Question 19
N
A
M K
bd | D
Z
N
A
M K
bd D



Q-20 If members are facing outside then in which of the following pairs is the second person sitting on the immediate right of first person?
eng

01. 7y 02. AM
03. 7D 04. KN

05. None of these
Q-20 =feHaey arex it AT g@ 67 2 a1 Fe St # & frad gaeT =af<s 72t =i % qied a8 981 82

hi
01. 7y 02. AM
03. 7D 04. KN
05. = & 7S
Solution for Question 20
en N
& A
M K
Y L D
7z
hi N
A
M K
Y L D
7z

Q-21  What s the position of M on the table?
eng

01. Between A and Y 02. Immediate left of K
03. Immediate left of N 04. Immediate right of K

05. None of these
Q-21  #9TT M FT &I 7 8?2

hi
01. YSHTAFEH 02. K % qo=q ard
03. N&F g ard 04. KF T ard
05. zerif & s et
Solution for Question 21
N
eng A
M K
b D
Z
hi N
A
M K
Y | D
Z

Q-22 The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are
eng sufficient for answering the question.

Among G, H, J, Q and T who is gets less marks in compare of others?
Statement:

I. H gets marks more than G and Q but less than J.

II. G gets marks more than Q who gets less than T.

01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.



03.

05.

If each statement alone (either I or II) is 04. 1If statement I and II together are not sufficient.
sufficient.

If both statements together are sufficient, but
neither statement alone is sufficient.

9 fETTT It & ST HAFT F ATEAH § FF ATARILAT T AE § STIHT T MU FLATR TR FA7 FAATH ST A ATARTL STLIA H
frgaata &

G, H, J, Q 3T T &1 § 19 I ol AT | HaH HF i qTaT 52
FA:

I. H, G 3T Q & SATT AThe J & ¥ s qTaT 3l

I1. G, Q SATET FATAT g S T T & 7 i ITar 2l

01.

03.

05.

Ty e 1 et & Ty & S0 Fore 1 02, 71T e 1 oiahel 2F T3TH & ST 91 [ 3T9hel T3] 781 &
Tfe Jels FAT THA (AT A LATI) ET 04, i o 197 11 U &7 7978 L1 3

T 8

T AT FAFT TH T TATH & AThT

e TATH Tl

Solution for Question 22

eng

Q-23

eng

Q-23
hi

HNJ>H>G/Q
(I T/G>Q
1&I1I-J/T>H/T>G/T>Q

NJ>H>G/Q
(N T/G>Q
1&II-J/T>H/T>G/T>Q

The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are
sufficient for answering the question.

How is H related to Z?

Statement:

I. H’s husband is only child of Z's mother.
I1. H’s brother and Z's husband are cousins.

01.

03.

05.

If statement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

If each statement alone (either I or II) is 04. If statement I and II together are not sufficient.
sufficient.

If both statements together are sufficient, but
neither statement alone is sufficient.

A= g arg st & ST FaF1 F ATAA { FHATTRAT AT E TR T AofT FI77 ¢ P Far vy & A ATTFTA IAIRAF
g aata €1

T, Afea ! F F T AT g

EREH

I H T qfT Z &1 |7 T Uahet iy v g
IL. H =T 9TS ¥ Z T 9fa i 2

01.

03.

05.

T FI7 [ 3Tt &1 TITH § AT FAF 11 02, TS T4 11 3Tl &1 TATH & AT FA [ 37l TITH g1 &
i T FAT b (ATATLATID ET 04, 7T Fore 17 1 UoF A7 7377 721 &

T g

72 AT FAT T AT TATH & AT

A TATH Tl &

Solution for Question 23

eng

Mother

=) (+)

H

e



Q-24 The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are
eng sufficient for answering the question.

What is the rank of Z from the top?
Statement:

I. Kis 16th from bottom among 45 students.
II. Z is 7th Rank below K.

01. Ifstatement I alone is sufficient but 02. TIfstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.

03. If each statement alone (either Ior II)is ~ 04. If statement I and II together are not sufficient.
sufficient.

05. Ifboth statements together are sufficient, but
neither statement alone is sufficient.

Q-24 A RAITIATTHT A T FAA 5 ATEAH G FRATARTLAT ST E NI g MO T FLATE T FATHAATH ST TS ATARTO STALIA®
hi frgaata &

Z T ST | T 47 82

HA:

L. K 45 fErenfiai § = & 163 e v 2
IL Z, K & 7 79 §14 g

01. orf3 FFor | 73t &1 TATH & A1 F2Ie 11 02 7T o0 11 et &F TATH § TR 9 [ 373l TTH Tt §
FEhe TATH el
03. =f3 JeI® FAT A (ATATLATIN ET 04 TS FAF [ F [1 UF AT TATH 751 &
T 2
05. f FAT FAT TH T TATH & AThe
e TITH Tl
Solution for Question 24

eng Both statements together are sufficient, but neither statement alone is sufficient.

hi aat YT T Y UATF & Afhel bl AT AL &

Passage for Question 25, 26, 27, 28, 29 (ST-24RRBBCLPRE(25-29R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

Eight students of a school are G, J, K, Q, R, S, T and W. They study in class VI, VII and VIII but not more than three in any class. Each of them has a favourite
subject Physics, Geography, English, Hindi, Arts, Chemistry, Biology and Economics, but not necessarily in the same order.

R and G study in the same class but not with J.

Q likes Chemistry. J does not study in class VII.

Q study in class VIII only with W.

K and S study in the same class.

K does not like Geography.

Those who study in class VI do not like Biology or Arts.

S likes Physics. The one who studies in class VIII likes English.

G’s favourite subject is Hindi and T does not like Biology.

hi Passage

et T F 1 amydF asgga FL A= T 13 w591 F T ART@

TS e & NS &=t G, I, K, Q R, S, T 3T W g ST &7 VI, VII 3T VIII H U=d g TR TRt T | o1 | srfer faamedt a8t uza 81w fFameft
Wmﬁwﬁﬁ%ﬁ%‘fﬁﬂ %ﬁwwﬁaﬁﬁmsﬁtmwm% e STesT gt FoF o w9 7 2N
RaﬁthaﬁéiaﬁaTﬁ%%rééﬁﬁrJ%wﬁ%%%w

Q, THTIA THE FLAT g1 J, Fe4T VI H 721 T2a1 21

Q Fasr W 3 a1 eT VI § Tz 2

K 3T S T & &7 | Tzd &

K, ST 968 q5i H7av gl

I ST FHAT VI H 92d 8, Stie 351 AT et T6< 781 4 2l




S, WA=t qwiE AT g1 77 =Af<E S weT VI § 9T 8, st 08 FaT gl
G =7 geEraT fowe fEat § e T Stia fasme weig 981 f2ar gl

Q-25  Which subject does K like?
eng

01. Hindi 02. Geography
03. Economics 04. Data inadequate

05. None of these
Q-25 K& 471 faus ueg F7ar 82

hi
01 02. spirer
03. sref=rEeT 04. g oI
05. = T F1E TE
Solution for Question 25
eng Students | Subject | Class
G Hindi VII
J Geography | VI
K Economics | VI
Q Chenustry | VIII
R Biology | VII
S Physics VI
i Arts VII
W English | VIII
hi Tadt | Temw | w7
G | v
T | wm= [ VI
K | &demEEn| v
Q wEE | VT
R |[s=fm| viI
S wie | V]
T G R
W | s VIID

Q-26  Inwhich class does T study?
eng

01. vI 02. viI

03. VIII 04. Can’t be determined
05. None of these
Q-26 T, FeaT § vRaT 22

hi
01. VI 02. vII
03. VI 04. T TG FT ool
05. =H q FIE A1
Solution for Question 26
eng Students | Subject | Class
G Hindi VII
J Geography | VI
K Economics | VI
Q Chemistry | VIII
R Biology | VII
S Physics VI
il Arts VII
W English | VIII
hi Tadt | Tma | @
G v
J wiE | VI
¥ | aremamr| v




Q | W= |VII
R |safEm | vl
§ | R | VI

ji = | VII
W | s |V

Q-27  =AH A AT A7 TG UF &F FAT H qg arer iy #iv gatar 82
eng
01. G,I,K 02. G,W,T
03. JJK,Q 04. S, K
05z &S Y
Q-27 Which of the following group represent the students studying in same class?
hi
01. G,J,K 02. G,W,T
03. 1,K,Q 04. S I.K
05. None of these
Solution for Question 27
eng Tt | Tw [ =a
G | VI
] e | VI
K |#emm=n| vy
Q | VI
R |[safm| yiI
S e | V]
T Sl O M
W | s VII
hi Students | Subject | Class
G Hindi VII
J Geography | VI
K Economics | VI
Q Chemistry | VIII
R Biology | VII
S Physics VI
i Arts VI
W English | VIII
Q-28 Whose favorite subject is Biology?
eng
0. G 02. Q
03. K 04. s
0S. None of these
Q-28 S fasi et weetaT faw 82
hi
01. G 02. Q
03. K 04. S
05. 2o iy v
Solution for Question 28
B Students | Subject | Class
G Hindi VII
J Geography | VI
K Economiecs | VI
Q Chemistry | VIII
R Biology | VII
S Physics VI
1l Arts Vil
W English | VIII
hi TTandt | fawm | w7
G = v



i] e | VI
K || V] |
Q ®EE | VIIT
R fiam | VI
S | W | VI
T F | VII
W st | VIII

Q-29 Which of the following group of student, subject and class is not correct?
eng

01. G- Hindi-VII 02. Q-Chemistry-VIII
03. T-Arts-VII 04. 'W-Physics-VIII
05. R-Biology-VII

Q-29 = F & & fG=m, BT =i Fa7 F1 95! 998 Tl 22

hi
01. G-fFd-vi 02. Q-TAETIF-VIII
03. T-FaT-VII 04. W-siTfae- VI
05. R-SfEfasm™-VII
Solution for Question 29
eng Students | Subject | Class
G Hindi VII
J Geographv | VI
K Economics | VI
Q Chemistry | VIII
R Biology | VII
S Physics VI
i Arts VII
W English | VIII
hi [Tt | Tomw | =
G | VI
I e | VI
K |3demamn| v |
Q | ™= |VII
R [Fahm| VI
S | W [ VI
T | VII
W | S| VII

Passage for Question 30, 31, 32 (ST-24RRBBCLPRE(30-32R)2020)
eng Passage

In each of these questions, a group of letters is given followed by four combinations of digit/ symbol numbered (1), (2), (3) and (4). Letters are to be
coded as for the scheme and conditions are given below. You have to find out the serial number of the combination, which represents the letter group
the serial number of that combination is your answer. If none of the combinations is correct your answer is (5) i.e. None of these.

letter: |A |K|H|(T|R|E(W | M|B|X|Z|F|[U
Code: |6 |# |4 |8 |%|9 |1 |2 |5|8|3|7|@
Conditions:

I. If the first letter is a vowel and the last letter is a consonant, both are to be coded as '&'.

II. If the first letter is a consonant and the last letter is a vowel, both are to be coded as ©.

I11. If the first, as well as the last letter, are vowels, both are to be coded as the code for the first letter.

hi Passage

TTH A TAFTTH AFU FTTH G (CATTATE | T0F TS HAF/AATSH H AIFHIST (1), (2), 3) T () fFrgarg g1 g wr = s Fawa
AATH ATHTCHIS HLATE | ATHI ST AATIAT R FHTH R TIATANTATE AT AFL GG FTAETNFLATGI STHATHAA BT HATH MAHTIAL G|
T 1S W HITT GET AL 8, TV ATHTITL (5) AATY TR F FHTS AR, ST

sec |A|K[H[T[R[E[wW]m]B][x[Z[F[U
Fe 6 |#|als|xn|al1]|2]s5]|s]3]7

oy

ad :
I Ife Tgdr oteqT Ta< i< srfeaqe ereq =i 2 a7 21 '&' | e FBhd ST 2




11 7% TgeT 37eqe =Hor ST arfea 1ere &< g AU &t '©' F it &3 st 2
TIL 7T IgaT i STfea ST T84T ¥ g AT |1 0 Tge &Y & HIe F HI1ed (AT ST 2

Q-30  WBFUMA
eng

01. ©57@2% 02. ©65$20
03. ©57@20 04. 657@2%

05. None of these
Q-30  WBFUMA

hi
01. ©57@2% 02. ©65%20
03. ©57@20 04. 657@2%
05. =% F IS AT

Solution for Question 30

eng Condition: (Il) applied.

hi ereT: (1) ey

Q-31  UKTRHF
eng

01. &#84%& 02. $#847&
03. &8%&49 04. &#8%4&

05. None of these
Q-31  UKTRHF

hi
01. &#84%& 02. $#847&
03. &8%&49 04. &#8%4&
05. zeri & FE T

Solution for Question 31

eng Condition: (I) applied.

hi erd: (1) &Iy

Q-32  EMTRKA
eng

01. 928%#9 02. 9$2419
03. 9281#$ 04. 914#29

05. None of these
Q-32  EMTRKA

hi
01. 928%#9 02. 9$2419
03. 9281#$ 04. 914#29
05. w7t ¥ 7S R

Solution for Question 32

eng Condition: (I11) applied.

hi ereT: (1) =g

Passage for Question 33, 34, 35, 36, 37 (ST-24RRBBCLPRE(33-37R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

Seven persons A, K, R, T, W, Y and Z are living in different flat no. 441, 289, 324, 124, 144, 329 and 729 but not necessarily in the same order. They like
different colours; Red, Blue, Green, Yellow, White, Black and Orange but not necessarily in the same order.




R lives in flat no. 441 and he likes Green colour. T lives in flat no. 124 and he likes Red colour. The one who lives in flat no. 289 likes Orange. The one who lives in
flat no. 324 likes Yellow colour. W likes Blue colour but does not live in flat no. 144 and flat no. 289. K likes White colour and does not live in flat no. 329 and flat
no. 729. Z lives in flat no. 329 and he likes Black. Y does not live in flat no. 324.

hi Passage
fRafafya srasrd &1 eamgd® aegga FL ST R fFRragwsi® sacdifvm

ard =R A, K, R, T, W, Y 3T Z JT-31eRT Fele §&AT; 441, 289, 324, 124, 144, 329 3% 729 | Tgd 8, AT SIET Agl o THT F7 § 21| o STeT-3TT 7]
THE T @ AT, T, g1, T, e, AT ST AT ATk STe<l gl 3 ol %9 § 27

R Tl AT 441 H T2AT 2 3T 30 g0 W1 T6E g1 T WA HeAT 124 H TgaT g T 3H AT T I8 g1 a8 S Fele HeAT 289 § TZAT g IH ATG W T67 g
g ST TS HEAT 324 H TdT 8§ T T T 0oa g1 W T {161 337 96T g A 98 Foie TeaT 144 3T i 97 289 H 8 Tgar gl K il g (T oe 8
T I Fele HEAT 329 3T Fele H&AT 729 H A2 T2dT gl Z TS HEAT 329 § TgaT § ol I TdT W1 U863 g1 'Y I 9T 324 | 781 w2ar 2l

Q-33  Who lives in flat no.144?

eng
01. 7 02. K
03. T 04. A
05. v

Q-33 I HEAT 144 § & TEAT12?

hi
01. 7 02. K
03. T 04. A
05. Y

Solution for Question 33

LS A | Yellow| Flatno. 324
K White | Flat no. 144
R Green | Flat no. 441
T Red Flat no. 124
W Blue Flat no. 729
Y | Orange| Flatno. 289
Z Black Flat no. 329

hi A e w2 e 324
K i Tz w144
R L3 vtz g 44 1
T Gl vz wemn 124
W rem Tz @ 729
Y et etz s 289
Z FTe iz gE 29

Q-34  Who likes orange colour?

eng
01. w 02. K
03. T 04. R
05. v

Q-34 AT & ey wew 22

hi
01. w 02. K
03. T 04. R
05. vy

Solution for Question 34

eng A | Yellow| Flatno.324
K | White | Flat no. 144
R Green | Flat no. 441
T Red Flat no. 124
W | Blue Flat no. 729
Y |Orange| Flat no. 289

o 4 1.~ 1- Tt enm ™M




y

AA LI A ACER ARV, S S
1 | |

hi A e ez W 324
K w vz w144
R w vz W 441
T et wAz @ 24
W e e T 729
Y et vtz 5w 289
7z AT etz @ 20

Q-35  Which of the following option is true?
eng

01. R-Yellow-flat no. 124 02. Z - White- flat no. 144
03. A- Yellow- flat no.324 04. W - Black- flat no.329

05. None of these
Q-35 [wfafed ¥ & %9 a1 e a7 82

hi
01. R- o7 —Feie HeaT 124 02. 7 - 9% - ol AT 144
03. A- e - FIE TEAT 324 04. W - FTT- T HEaT 329
05. =% T 1S TSI

Solution for Question 35

S A | Yellow| Flatno.324
K | White | Flat no. 144
R | Green | Flat no. 441
T Red Flat no. 124
W Blue Flat no. 729
Y |Orange| Flatno. 289
Z Black | Flat no. 329

hi A e vtz we 324
K ] vtz s 144
R W e g 441
T e wiz W 124
W e vz e 729
Y At vz we 289
Z FTeN etz @ 29

Q-36  Inwhich flat no. does W lives?
eng

01. Flatno. 144 02. Flatno. 729
03. Flatno. 441 04. Flatno. 324

05. Flatno. 124
Q-36 W e Wi Hear § wmar 82

01. W< HeEaT 144 02. w3 HEAT 729
03. e TEaT 441 04. e HEAT 324
05. W< HEAT 124

Solution for Question 36

eng A | Yellow| Flatno. 324
K | White | Flat no. 144
R | Green | Flatno. 441
T Red Flat no. 124
W Blue Flat no. 729
Y |Orange| Flatno. 289
Z Black | Flat no. 329

hi A e w7z W 324
K e we w44
R W wie dEn 441
T e vz wem 124
W rem Tz wEm 729




Y e Ttz " 2Ry
7 e Tz g 20

Q-37 Four of the following five are alike in a certain way based on the given arrangement and so form a group. Which is the one that does not belong to that
eng group?

01. w-729 02. A-324
03. 7-329 04. T-441
05. K- 144

Q-37 fAwfafad o= & & 9w uF [ 8% 7999 € 3T 38 UF 99g 974 2| 98 UF i 97 8 51 o7 99g | 7el oaT g2

01. W-729 02. A-324
03. 7-329 04. T-441
05. K- 144

Solution for Question 37

eng A | Yellow| Flatno. 324
K | White | Flat no. 144
R Green | Flat no. 441
T Red Flat no. 124
W Blue Flat no. 729
Y | Orange| Flat no. 289
Z Black Flat no. 329

hi A e % Hen 324
K ki etz we 144
R w0 vtz g 441
T & vz wen ] 24
W Arem Tz we 729
Y et weiz @ 289
7 e e @ 29

Passage for Question 38, 39, 40 (ST-24RRBBCLPRE(38-40R)2020)
eng Passage

Study the following information carefully and answer the questions given below.

8 person A, D, F, G, H, J, Q and T are sitting around a square and facing at the centre. Two persons are sitting at each side of the square.
D is in front of H who is third to the right of A. A is in front of T who is third to the right of J. G is second to the right of F and in front of Q.

hi Passage

afafaa TTasTh #1 eamgd® segaa w3 A TAS 1327 73 oAt F AT

a3 3w A, D, F, G, H, J, Q 3T T U a7 & AT AT g il AT G Fh 95 gl a9 il T oI I IT AT 95 g
D, H % HT99 8 ST A % 70 d1ERT 81 A, T % 979 g ST J 3 370 a9 81 G, F % 373 g7 ¢ 37Y Q F €19 2l

Q-38 Who is infront of F?

eng
01. Q 02. H
03. J 04. G
05. None of these

Q-38 FHAATFMAE?

hi
01. Q 02. H
03. J 04. G
05. =% T IS AT

Solution for Question 38

eng
H I



Q-39  Who are the neighbours of A?
eng

01. GandF
03. Hand]J

05. None of these
Q-39 ZFUEETFAE?

01. G:fiTF
03. HsfiTJ

05. T & Fré TS

Solution for Question 39

eng

Q-40  Who are the neighbours of H?
eng

01. Gand A
03. JandD

05. None of these
Q-40 HF TEEIFE?

hi
01. G3fTA
03. JsfiT D
05. 27 & v
Solution for Question 40
eng
HJ
|
Q—--;- L
T A
;i)

02.
04.

02.
04.

02
04

02
04

Qand D

Can't be determined

Q3T D
it 72t T s aar

. QandlJ
. Qand G

. Q3fiTy
. QTG



Q-41

eng

What value will come in the place of question mark in the following question-

26% of 450 —? = 12% of 250

01. 24 02. 71
03. 83 04. 87
05. 97

fom o st & weraT=e e (2) % T 9 T "I S ?

450 %7 26%— 7 =250 =T 12%

01. 24 02. 71
03. 83 04. 87
05. 97

Solution for Question 41

eng

hi

Q-42

eng

?7=87
?7=87

What value will come in the place of question mark in the following question-

34 38 32 _
19" 51 18
01. 11 02. g
8 9
03. 04.
! 3
4 4
05. 4
g

3w T ot | werErEE e (2) F O 9 T 91 S0 2
34 38 32

STRET

—

| o

05. 4

Solution for Question 42

eng

hi

Q-43

eng

7=0.75=3/4
7=0.75=3/4

What value will come in the place of question mark in the following question-

o1 1 02.



03.

5 04. 1

:
15

=] =

05. 2i
16

forT o oIt o weraT=reR e (2) 3 S 9 T WO A0S 2

21+1E—11=?
4 3 6
01. 1i 02. 2§
16 1
03. 21 04. 1L
T 15
05. Zi
18

Solution for Question 43

g, ,3
4
hi
7= 23
4
Q-44  What value will come in the place of question mark in the following question-
eng
5% of 500 + 2%% 0of 2100 =?
01. 74 02. 67
03. 82 04. 46
05. 73
Q-44  fRU Uyt § weyaras e (2) F T 9% F47 /I SA0AAT 2
hi

500 =T 5% + 2100 =T 2%% =?

01. 74 02. 67
03. 82 04. 46
05. 73

Solution for Question 44

eng 7=174
hi ?7="74
Q-45 What value will come in the place of question mark in the following question-
eng
(16x5)—(5%x4)-52=2+4
01. 42 02. 24
03. 32 04. 34
05. 40
Q-45  TRUww At | weaar=d e (2) F T 9T FA7 AT SA0AT 2
hi

(16 x5)—(5%x4)-52=2+4

01. 42 02. 24
03. 32 04. 34
05. 40

Solution for Question 45

eng ?7=32

hi ?7=32




Passage for Question 46, 47, 48, 49, 50 (ST-139 CRPPOPRE (16-20) 2019)
eng Passage

In the line-graph information about production of car (in thousands), scooter and taxi in various years has been given. Read the following data
carefully and answer the questions given below.

production )0

Note: - Percentage of export in every year = |: b
1000
a9
48
a7
a6
as
a4
a3
a2
a1
40
39
2013 2014 2015 2016 207 2018
=sir—Scooter -—e¢—Car = Taxi
hi Passage

ATSAATE § AT aut § F7L, THST AT FAT F ST F TR & A1aHTH (AT H) T 1€ {1 Maforiaa siwsi w71 919 & 0 sivw 9 fyw
AT TAT & ITALAN

Are: - wfd et 7 sffer = (20t o

49
48
47
46
45
44
43
42
a1
40

Q-46  What is the total number of production of two wheeler vehicles in all the years?
eng

01. 296x1000 02. 262x1000
03. 292x1000 04. 248%1000

05. None of these.
Q-46 =t AT | 7 IAT ATEAT F ITATEA T FHo HEAT F4T 82

hi
01. 296x1000 02. 262x1000
03. 292x1000 04. 248x1000
05. o7 A TS AT
Solution for Question 46
eng Total number of productio of scooter in all the years
= (43+42+44+45+42+46)x1000 = 262000
hi aufY auT | THe? F IcATaA il /A AT = (43+ 42+ 44+ 45+ 42+ 46)x1000 = 262000

Q-47 What is the difference between the export of Taxi in the year 2014 and the production of Car in the year 2015?
eng

01. 25650 02. 28550



03. 27750 04. 26750

05. None of these.
Q-47 T 2014 ¥ AT F 1T &7 a9 2015 H F12 F I H T < 22

01. 25650 02. 28550
03. 27750 04. 26750
05. =9 ¥ FIs I8!

Solution for Question 47

eng Required difference = 48000-45% of 45000 = 27750

hi ATALTAF AL = 48000-45% T 45000 = 27750

Q-48 What is the average number of export of taxi in the year 2016, 2017 and 2018 together?
eng

01. 214833 02. 22583.3
03. 24083.3 04. 253453

05. None of these.
Q-48  TW2016,2017 3T 2018 H AT  [FATT T SiET HEAT F4T 22

01. 214833 02. 225833
03. 24083.3 04. 253453
05. o7 A TS AT

Solution for Question 48

eng Average number of export of taxi in the year 2016, 2017 and 2018

_ 46% of 46000+48% of 48000+45% of 45000
3

hi 2017 37 2018 H ST = Rt it siea wear

_ 46% of 46000+48% of 48000+45% of 45000
3

=21483.3

=21483.3

Q-49 Find the ratio of export of car in 2016 and to the export of scooter in the same years.
eng

01. 1849:2025 02. 43:45
03. 45:43 04. 1849: 1625

05. None of these
Q-49 2016 H FTT F fata F1 ¥ a9 § TR F AT 7 qama J1a Ffor

01. 1849:2025 02. 43:45
03. 45:43 04. 1849: 1625
05. = & 78 T

Solution for Question 49

eng Required ratio = 43% of 43000 : 45% of 45000 = 1849 : 2025

hi LA ATATT = 43000 T 43% & 45000 FT1 45% = 1849 : 2025

Q-50 How many taxies were not exported in 2017?
eng

01. 25260 02. 24960
03. 26560 04. 27660

05. None of these.
Q-50 2017 % Fhaet &Rt T fAaia Tal gam?

01. 25260 02. 24960
03. 26560 04. 27660
05. it & e T



Solution for Question 50
eng Required number = 52% of 48000 = 24960
hi ATALTH FE&AT = 48000 FT 52% = 24960

Q-51 Two trains 180 m and 150 m long are running in the same direction. The shorter train crosses a man who is sitting in the longer train in 20 seconds with the
eng speed of 36 km/hr. What is the speed of the longer train?

01. 4.5km/hr 02. 3.6 km/hr
03. 7.2 km/hr 04. 9 km/hr

05. None of these
Q-51 180 e 3% 150 Hiex Tl aT 2 Ua & faorm & =1 T&1 51 Fret o 36 Tohefiysier ¥ i & &feft o7 9% Ua =4f<h & 20 FHe H I FAl gl A&l
hi o i ATt AT 82

01. 4.5 BFfieEar 02. 3.6 Ffi/eaT
03. 7.2 ffi/ear 04. 9 fi/Ear
05. =% ¥ F1E TE

Solution for Question 51

eng Let the speed of the longer train is x km/hr.
So according to the question,

(B6x)x.5 _ 150

18 20
x =9 km/hr
hi AT 36 ST 2 o i x BT/ wer 2
AT F ATART (36-x)x 2. — 150
18 20
x =9 Y/ "eT 2
Q-52  Find the sum of first 120 natural numbers which is multiple of 7.
eng
01. 29600 02. 72800
03. 92820 04. 50820

05. None of these
Q-52 77 UIS TEA 120 WTETAH ST FHT T AT 1910

hi
01. 29600 02. 72800
03. 92820 04. 50820
05. i 3 7S T
Solution for Question 52
eng Sum of first 120 natural numbers which is multiple of 7,
T+ 14421 ..., +840 =7 (14243........ +120),

n(n+1)
2

So  7(1+243....... +120) = 7x -120x121 _ 50890
2

hi Tgel 120 ITHIde SEATSH HT TN ST 7 T OIS g,
7+ 14+21.......... +840="7 (1+2+3........ +120),

Tl n TR st w7 A = Rt
2

A T(4243. +120) = 7x-120%121 '_ 50820
2

Sum of first n natural numbers =

Q-53 Find the volume of a cylinder whose radius is one - third of the radius of a circle having area 1386 cm2. Height of the cylinder is double its radius.

eng
01. 2584 cm3 02. 3562 cm3
03. 2156 cm3 04. 3245 cm3
05. 3245 cm3

Q-53 U= Ryelex 7 srgae stra &%, Seeht oo us g Y FBrear 1 s Qe 2 s SHr &=her 1386 JHi2 g1 99T fAeis< it 3=Ts goeht e



AT AT 2

01. 2584 I3 02. 3562 I3
03. 2156 I3 04. 3245 I3
05. 3245 I3

Solution for Question 53

eng

Q-54

eng

nr® = 1386

(22/7)xr% = 1386 =1 = 1386%(7/22) =12 =441 =r =21 cm
Radius of the cylinder =21x(1/3) =7 cm

Height of the cylinder = 7%2 = 14 cm

Volume of the cylinder = nr?h = (22/7)x7x7x14 = 2156 cm>

T = 1386

(2/7)<1% = 1386 =17 = 1386%(7/22) =1* = 441 =1 = 21 &t
foretet it fsar = 21x(1/3) = 7 &+t

Toretet St Fams = 7x2 = 14 9wt

foretet &1 ST = Tu?h = (22/7)x7x7x 14 = 2156 T3

A man rowed against a stream flowing 1.5 km/h to a certain point and then turned back, stopping 2 km short of the place from where he originally started
(i.e. he took a short cut in downstream journey which saves his 2 km). If the whole time occupied in rowing be 2 hr 10 min and his uniform speed in still
water be 4.5 km/h then the man went up the stream for a distance of?

01. 4km 02. 8km
03. 7km 04. 5km
05. 6km

T SATh 9T % faadia, S 6 1.5 fi/aer i i & ag w31 8, v = s a6 strar @ =i f6 aro s a9 e &g 72 Gl ugar 3=
&1 &3 STTAT & (AT ag U 377 T F &1 6 AR TATg | AT g S 3 369 2 ko F=7 (a1 8)| T T H 36 FIT [orAT 9T F/ef THT 2 5
10 Toee 2 3T areft & IHeht 3t i 4.5 Farei/eieT off a1 59 ==f=F 7 91 % fAdd et g8 aa

01. 4t=fy 02. 8 et
03. 7Y 04. 5y
05. ¢ f=FfY

Solution for Question 54

eng

Q-55

eng

Let the man went up the stream for x km.
Then, he turned back for (x-2) km.
So [x/ (4.5-1.5)] + [(x-2)/ (4.5+1.5)] =2 hr 10 min

@x+x-2)/6= 2%
6
3x2=13
x=5km
AT o g 1o S8 =ATF 7 &7 & Ay 1 et g a7 7 o< o6 arw sa &9 (X-2) ot g ag #ear g
qr [x/ (4.5-1.5)] + [(x-2)/ (4.5+1.5)] = 2 =eT 10 A==
Qx+x-2)/6= 22
6

3x-2=13
x =5 foHT

The mixture of milk and water is 32 liters. If we mix 40% of the milk, quantity of mixture is 40 liters. What is the initial quantity of water?

01. 12 liters 02. 20 liters
03. 41liters 04. 8liters

05. None of these
T T AT FT 32 e foror 81 Tf2 ZH/ 40% 39 3T FHaATd g ar fsror 7 et 71T 40 e g1 ST g1 TIT 07 T H qUa 397 82

01. 12 +ftex 02. 20 fiex
03. 4<ffex 04. 8T



05. =% A H1E T2

Solution for Question 55

eng Now according to the question,
40% of milk = 40-32 = § liters
So initial quantity of milk = 20 liters
So initial quantity of water = 32 — 20 = 12 liters.

hi T T T AT,
TH FT 40% = 40.32 = 8 HATex
T g T ITEIHF AT = 20 e
AT ITHT T I A |7 = 32 - 20 = 12 2w

Q-56 The profit percentage earned after selling an article for Rs.1560 is the same as the loss percentage incurred after selling the article for Rs.1250. What is the
eng cost price of the article?

01. Rs 145 02. Rs 1410
03. Rs 1450 04. Rs 1405

05. None of these
Q-56  TFAEGH 1560 F. T T T g1 ATH TA9rd 6T a%q &1 1250 %. § =T T2 9T &I Tq0d F a¥a7 ¢ | T8 F1 77 od 771 8?

01. 145% 02. 1410%
03. 1450% 04. 1405%
05. it it 7S Y

Solution for Question 56

eng Let cost price of the article is Rs x.
According to the question,
Loss% = profit%
x¥-1250 ,100= 1560-x . 100

X X
x = Rs 1405

hi HTAT a%] T AR o7 x % &l

T5T % ST,

BT % = AT %

x=1250 ><100: 'l!:;ﬁﬂ"'xxloo

X X
x = 1405 F0%

Q-57 Kartik, Prakash and Vimal enter into a Partnership with investment in the ratio of (3/2): (8/5): (5/3). After six months, Kartik increases his share by 40%. If
eng the total profit at the end of the year was Rs.136800 then find the share of Prakash in the profit.

01. Rs.40200 02. Rs.41200

03. Rs.43200 04. Rs.42200

05. Rs.45200
Q-57  Frice, weTer ST B, (3/2): (8/5): (5/3) F AT | (AT F AT AGHT FXd 2| B Al % 1%, HI o ST [RedT HT 40% 3T T f&m|
hi T I F oI § F/T ATH 136800 F4F &, AT ATH § TH1eT 7 TFT 1T F2|

01. 40200 & 02. 41200 =73

03. 43200 =0 04. 42200 =T

05. 45200 =7
Solution for Question 57
eng The investment ratio = (3/2): (8/5): (5/3)

=45:48: 50

The share of Kartik, Prakash and Vimal

= [45%6 + 45%(140/100)x6]: [48%12]: [50%x12]
=648: 576: 600 = 27: 24: 25

Total profit = Rs.136800

76 = 136800

1=1800

The share of Prakash = Rs.43200



Q-58

eng

TrerT 6T ST = (3/2): (8/5): (5/3)

=45:48: 50

ShTfcieh, TehTeT ST formet o1 fewam

=[45 x 6 + 45 x (140/100) x 6]: [48 x 12]: [50 x 12]
= 648: 576: 600 = 27: 24: 25

FHA A = 136800 T

76 = 136800 T

1 =1800

TeRTST 3T &8 = 43200 T4

Tap 'A' can fill 240 liters of water in 15 minutes. Tap 'B' is 20% more efficient than tap 'A". If tap 'B' fills a tank in 15 minutes then find in how long tap 'A’
will fill the tank?

01. 12 minutes 02. 18 minutes
03. 20 minutes 04. 24 minutes

05. None of these
A" 15 Toee 7 240 Frex T 9 FHAT g T A" F TAAT H T 'B' 20% ATEF FAA g A% 7 'B' 15 e § UF IF wwar g ar Tg T w2
A A’ EF HT s qHT H AT

01. 12 e 02. 18 A=
03. 20 o= 04. 24 fe
05. =¥ T 7S T

Solution for Question 58

eng

Q-59

eng

Let tap ‘A’ will fill the tank in ‘t’ minutes.
According to the question,
100% xt =120% %15
t =18 minutes

TTAT 0 A" 3 7 't =2t § 9 2
T % TTEATRT 100% xt = 120% x15
t=18 e

A train starts for station A with speed of 90 km/hr at 8 : 00 am towards station B, in the route it crosses another train starting from station B towards station
A at 9:00am with a speed of 60 km/hr, at 11:24 am. If both the trains take stoppage of 10 min after every hour then they will cross each other at what time?

01. 12:10pm 02. 12:15pm
03. 11:50am 04. 11:59am
05. 12 noon

T o T A | F9F B % forw gag 8 < 00 a1 90 frefi/ee &1 =1er =71 T2t 8 AT ST B &/ A 9Ta: 9:00 a5 60 f3hefi/ere sy = v =1er & =t
U UH FEL AT ATq: 11 : 24 9% Tt & | TTR T4 oF T4 5 & TATT10 e 7 5800 of ar 6| g [Hewf?

01. 12:10pm 02. 12:15pm
03. 11:50am 04. 11:59am
05. 12 noon

Solution for Question 59

eng

hi

D =1x90+ 12 x(90+60)=450

Total distance travelled by train A till 11:30 Am =90+90+90=270
Total time travelled by train B till 11:30 Am=60+60+10=130
Total time travelled by both trains till 11:30 Am=400

Remaining distance=50

Remaining time=50/150=1/3 h=20min

Required answer=11:30+0:20=11:50

D =1x90+ 12 x(90+60)=450

12

3



Q-60

eng

11:30 &7 T A BT =t T T8 =90+90+90=270

11:30 a7 T B 1T Tt T T =60+60+10=130

11:30 T T IIAT AT T AT AT FIT =400

T TE=50

Y FHA =50/150=1/3 h=20 ==

ar+fie ITE=11:30+0:20=11:50

Two egg sellers are sitting on the table. One seller has 7 eggs and other has 5 eggs. One of the common friends of both passing by requested them to share

their food in return for money. The three of them shared the eggs equally and the third friend paid the other two a total of Rs.24.Find the difference between
the amounts received by two sellers.

01. 18 02. 6

03. 8 04. 12

05. None of these

T ST AT 857 9% 9% 81 U fAadr % U 7 31 g 3T TAL F U9 5 3% &1 UF ARE ST A1 F Q91 a1edi g S T8 F qaef | A7 QT JrAT
T T AN ThAT) IHH F AT F FHE ET F 312 FHT FTAT (0 {7 T ATE 7 177 ZT G1Eq FT Fef 24 FTT T ST 6471 9T F; Eowaret
F =TT T o & T ST AT FR

01. 18 02. 6
03. 8 04. 12
05. =8 T FIE 7S

Solution for Question 60

eng

Q-61

eng

As the two seller had a total of = 12 eggs

They shared eggs in equal number. So each of them must have got =12/3 =4 eggs.

The first and the second seller must have given =7 — 4 = 3 eggs and (5-4) =1 egg to their friend.

Hence, the ratio of their share is 3:1.

Now, money has to be distributed in the ratio of their contribution. As total money paid by the stranger is Rs.24.

Hence the first seller get Rs.(24%3/4) = 18 and the second seller get Rs.(24x1/4) = 6 Required Difference = 18 - 6 =Rs.12

=ffer ST forshaT & T8 FA = 12 ST

I HH HEAT H 373 Y aie, A1 I & Wl i 37 et = 12/3 = 4 vt 37 g gk ¥
FO S T FL T =7 -4 =3 3R (5-4) = | THA, Ioh {68 7 AT 3: 1 2

3, 3o ANTEH o ST | & ! frafia foham ST 2

St o TSl ST faa T et 6 24 w9 R

SRR et fosha 1 (24 x 3/4) = 18 0 3R qEL foshaT &1 (24 x 1/4) = 6 ¥4

fiy SR =18-6=12 7

What value will come in place of question mark (?) in the following question?

7368+7x17=5219

01. 16 02. 18
03. 22 04. 24
05. 28

FrarferfEra wor & weramas g (2) 3 T O 1T 91 SraE?

7368+7x17=5219

01. 16 02. 18
03. 22 04. 24
05. 28

Solution for Question 61

eng

hi

@xﬂ:mg

,_ 736817
T 5219




Q-62

eng

AL =JL 1
?

,_ 736817
T 5219
9= 24

What value will come in place of question mark (?) in the following question?

f 91 2
& 1———— =
216 36

01. 4 02. ¢
03. 5 04. 8
05. 10

et w1 & werEmas g (2) % S 9% #7919 $AE?

?
P
216 36°°

01. 4 02. ¢
03. 5 04. 3
05. 10

Solution for Question 62

eng

Q-63

eng

Q-63

hi

[216-91_(36)”
X =1
216 ?

1
125 {36)2

5 % ="
216 ?

216—91)({36!0'5
216 2

=1

216 ?

What value will come in place of question mark (?) in the following question?

()3 +(150)2 = 77372

01. 38 02. 36
03. 34 04. 32
05. 28

rerferfea wor ® A= =g (2) % T 9% T /I AT

(73 + (150)2 = 77372

01. 38 02. 36
03. 34 04. 32
05. 28

Solution for Question 63

eng

(7)3+ (150)2 = 77372
(7)3+ 22500 = 77372
(7)3 = 77372-22500
(?)3 = 54872

7=38



hi (7)3+ (150)2 = 77372

(7)3+ 22500 = 77372

(?)3=77372-22500

(7)3 = 54872

?7=38
Q-64  What value will come in the place of question mark in the following question ?
eng

(33)78x(33)!2+ (33)°=33x (33)’

01. 3 02. 1|

03. 7 04. 2

05. 5
Q-64  TRUITT W F weAATHT =2 (?) F T T FIT {IA SACAT 2
hi

(33)8x (33)!2 + (33’ =33 x (33)’

01. 3 02. 1

03. 7 04. 2

05. 5
Solution for Question 64
eng X=4-1=3
hi X=4-1=3
Q-65 What value will come in the place of question mark in the following question?
eng 1 1 .2 _4

2o%3—+1=—x2—=27

5 2 7 7

01. 155 02. 145

03. 158 04. 162

05. 154
Q-65 U & wyEras e (?) F I 9% #4191 A0 2
hi 1 1 2 4

2o %3 +1=-=2—=7

5 2 o 7

01. 155 02. 145

03. 158 04. 162

05. 154

Solution for Question 65

eng R
_igns Spinnend ainil
57297
7=154

hi R T
§_sgns sptnend ainlh
572977
7=154

370
3600
3500
00
3300
3200

Passage for Question 66, 67, 68, 69, 70 (ST-138 CRPCLERKPRE (11-15)2019)
eng Passage

Read the following data carefully and answer the questions given below.

Total population of a village from 2012 to 2018:-




gEEEEEE

2012 2013 2014 2015 2016 207 2018

hi Passage
Fafrifaa sissi F1 e 1@ 9 fRragysi & 37

2012F 2018 TF TH M T 1 /A TTH &IAT:-

2012 2013 2014 2015 2016 017 018

gEIEEgEEEBEE

Q-66 If the number of females in year 2016 is 2/3 of the total number of males, then what is the number of males in the village?
eng

01. 2160 02. 2250
03. 1380 04. 2070

05. None of these
Q-66 T AT 2016 F wigerrsit Y wear EuT £t FHo TEAT FT2/3 7, AT A H [=OT T FeAqT 747 82

01. 2160 02. 2250
03. 1380 04. 2070
05. =it i vE

Solution for Question 66

eng Let the number of male is x, so According to the question,
2
X+2X= 3450

Now, x =2070

hi HTAT &Y T §EAT x & THT 7 % SATETT

x+§x=3450

T, x = 2070

Q-67  The number of females in 2015 and 2018 is same. If the number of females in 2018 is 1620, then what is the ratio of the number of males in 2015 and
eng 2018?

01. 11:13 02. 188:173
03. 129:59 04. 645:944

05. None of these
Q-67 201572018 ¥ TS T HeAT 791 § | AT 2018 H ATRATAT ¥ F=AT 1620 BT AT ATT HITorT 2015 2018 F TEOT T HEAT FT SATATT F4T 872

01. 11:13 02. 188:173
03. 129:59 04. 645: 944
05. zerit iy s

Solution for Question 67



eng Required ratio = 3500-1620: 3350-1620
=188:173

hi 3maRIe 3iguid = 3500-1620: 3350-1620
=188: 173

Q-68 From the following, what can be the ratio for number of males and females in year 2014?
eng

01. §:7 02. 7:6
03. 6:5 04. 5:4
05. 3:2

Q-68 TAwforiad § &, a9 2014 | T&UT 3T AT T HCAT T AT FAT &1 T &7

01. 8:7 02. 7:6
03. 6:5 04. 5:4
05. 3:2

Solution for Question 68

eng Only 5th option can be the answer, because the population should be divisible by proportionate sum of male and female.

hi FAd 5 AT Ao 3T BT a1 g, FA1Th STTEEAT, T8 3T AT % AqITas T07 F faartera gt Arfgul

Q-69 What is the average (approximately) of population of all the years?
eng

01. 3435 02. 3407
03. 3408 04. 3509

05. None of these
Q-69 Tt AT T TAHEAT FT HHT (T H) FAT 82

hi
01. 3435 02. 3407
03. 3408 04. 3509
05. =9 ¥ IS AT

Solution for Question 69

. 3400+325043350+ -3450+4 355 5
eng Required average = AR SE 0D EADMOOARNBRbD Tee bl =3407.14 = 3407
7
i A 3400+325043350+ 34504355 5
hi e 3400+325043350+4+35004+345043550+3350 =3407.14 ~ 3407

7

Q-70 In the year 2017, the number of males is 50% more than the number of females. What is the number of females?
eng

01. 2130 02. 1510
03. 1420 04. 1480

05. None of these
Q-70 =T 2017 H TEUT T HEAT AIZATA T FEAT H 50% AT g1 AIZATH T HEAT FT 82

01. 2130 02. 1510
03. 1420 04. 1480
05. =% F F1< TEf

Solution for Question 70

eng Let the number of females is 2x, so number of males will be 3x.
Now according to the question,
2x + 3x = 3550,
x=710
Hence number of females = 2x = 1420

hi e Ffenst i wEwr 2x ¥, swiow gest # wwar 3x @9l |

T UH B IR,
2x + 3x =3550, x =710



zafeT A3t A FEAT = 2x = 1420

Q-71 A sum of Rs 1500 is invested in a bank for 2 years. Compound rate of interest for the first year is 12% per annum and for the last year is 15% per annum.
eng What will be the total earned interest in 2 year?

01. Rs396.67 02. Rs432

03. Rs294.37 04. Rs490

05. None of these
Q-71  TFETSF | 2 9T & T 1500 T 7 {+arer BT Sar &1 Tger a9 & forw Fg g s3Ts 1 &% 12% T a9 g i< sifaw a9 % forw 15% 9fq ad 2
hi 2 Y H A ST SATST FAT ZEIT?

01. 396.67% 02. 432%
03. 29437% 04. 490%
05. =H q FIS A5t
Solution for Question 71
eng et fitigiesi = 12x1500 g 15x1500 15x12x1500 —Rs 432
100 100 100%100
hi T ST = 12x1500 g 151500 | 15x12%1500 _ 435 woip
100 100 100%100

Q-72 Two pipes ‘A’ and ‘B’ can fill a tank in 30 hours and 45 hours respectively. If both pipes operate simultaneously in the empty tank, how much time the tank
eng will be taken by them to fill it ?

01. 20 hours 02. 18 hours
03. 16 hours 04. 14 hours

05. None of these
Q-72  ITUTST A TT B freT T A7 FHA: 30 AU TAT 45 70 H A Tohd & A1 AT TTT AT AT FTF FE AT @TAT 201 Tohael &% § 9T SITAM?
hi

01. 20 = 02. 18U
03. 16 =0e 04. 14 =
05. Zerit i g i

Solution for Question 72

eng (30 x 45)/30+45 =18

hi (30 x 45)/30+45 =18

Q-73 A man has 75 kg rice some part he sold it at a profit of 20% and rest part at a loss of 10%, so 6% profit on mixture then how much quantity sold at a profit
eng Of 20%?

01. 48kg 02. 40kg
03. 35kg 04. 32kg

05. None of these

Q-73 U AR 75 BT, FATA HT F AN 20 FTALT ATH T TAT AT AR 10 TFrd T 92 I=G7 & 39 THE I T IS H 6 TIA90d T ATH a1 & 39
hi ZTeh o foRaaT =Fmae 20 Sfaerd AT 9% J=4T?

01. 48 ==, 02. 40 =T,
03. 35 f3T. 04. 32 3.
05. =8 ¥ F1E TET

Solution for Question 73

eng From alligation rule

20 -10

16 14 =287



Required answer="75 x i =40

hi Torsor = R &

20 -10

16 14 =287

8
mw:75x1_5=40

Q-74 Speed of a motorboat in still water is 45 km/hr. If motorboat takes 1 hour 20 minutes to go 36 km away in upstream in a river, then find out in what time
eng motorboat will return to its starting point?

01. 45 minutes 02. 42 minutes
03. 34§minutes 04. 44; minutes

05. None of these
Q-74 T S § UF "iexare it A 45 Ffi/Her 21 afe Arevare o BT T4 | g i Al e § 36 BT g7 S H 15 20 foee ava €, 9 s
hi FHrora o Aieare oAt 37 & o S &g a2 arae o Srosft?

01. 45 =< 02. 42 e
03. 342 e 04. 2 e
7

44;'
05. i F A AE

Solution for Question 74

eng Let the speed of the stream = x km/hr

Now speed of stream,
36 4

(a5-x) 3’
x = 18 km/hr

Required time of returning = =l

— 342 minutes
45418 7
hi HTAT G727 ¥ T = x fhah/ger
T ST 3 0,

3 _ 4
(45-x) 3
x = 18 et /ger

AT HT AFTF AT = 38 _ 342 fime
45418 7

»

Q-75 At which annual rate of simple interest will the amount be 7/5 times of Principal in 6 years?
eng

01. 9.09% 02. 165%

03. 8% 04. 529
3

05. None of these
Q-75 T it ATemeT TS ¥ 3T H 6 AT § TG TAGT FT 7/5 AT &1 ATIAT?

hi
01. 9.09% 02. lﬁg%
03. 8% 04. 29%
3
05. 3 & 718 T

Solution for Question 75

eng Let the principal = 1
So interest after 6 years =7/5 —1=2/5
Let rate of interest is r, hence
Ixrxe 2

100 &




r=62%
3

hi HTAT 6T e = |
3d: 6 A & dIg sTei= 7/5—-1=2/5
AT Y TreT A eI r B, A

1xrxe 2
100 5’
.2

T_GEG/D

Q-76 What value will come in place of question mark (?) in the number series given below?

eng
25 26 11 36 5 ?

01. 32 02. 28
03. 29 04. 30
05. 37

Q-76 T & T HEAT AT # wAaTa® e (2) F T I FT /A SA0AT 2

25 26 11 36 5 7

01. 32 02. 28
03. 29 04. 30
05. 37

Solution for Question 76
eng x141,+2-2,%x343,+4-4,x5+5
hi x1+1,+2-2,%x3+3,+4-4 x5+5

Q-77 What should come in the place of question mark (?) in the following number series problems?

eng
15 25 40 65 ? 170

01. 120 02. 105
03. 110 04. 130
05. 150

Q-77 FwREd ST @ GHETst § T (g (?) F S 9% F7 AT A0

15 25 40 65 ? 170

01. 120 02. 105
03. 110 04. 130
05. 150

Solution for Question 77

eng 15+ 25 =40, 25+ 40 =65 and 40 + 65 = 105

hi 15 +25 =40, 25+ 40 =65 and 40 + 65 = 105

Q-78 What will come in place of question mark (?) in the following number series?

eng
4000 2008 ? 514 265 140.5
01. 1004 02. 1008
03. 1012 04. 1016
05. 1020

Q-78 T dT dwer | waaras g () F T 9% FAT S0 2

hi
4000 2008 ? 514 265 140.5



01. 1004 02. 1008
03. 1012 04. 1016
05. 1020

Solution for Question 78

eng

hi

Q-79

eng

Q-79

+2+8,+2+8,+2+8, +2+8,+2+8
+2+8,+2+8,+2+8,+2+8,+2+8

What will come in place of question mark (?) in the following number-series?

6 20 ? 676 3364 13444

01. 120 02. 180

03. 196 04. 224

05. None of these

et der-saEar § waar=e =g (?) F #0092 797 SA139T?

6 20 ? 676 3364 13444

01. 120 02. 180
03. 196 04. 224
05. =H q FIS A5t

Solution for Question 79

eng

Q-80

eng

6x8 —28 =20
20x7-24=116
116x6 —20 =676
676 x5 —16=3364
3364x4 — 12 = 13444

6x8 —28 =20
20x7-24=116
116x6 —20 =676
676 x5—16 =3364
3364x4 — 12 = 13444

What should come in place of the question mark (?) in the following number series?

5 8 9 ? 32 825

01. 10 02. 12

03. 15 04. 18

05. None of these

et deaT gaer 8§ wet=eg (2) F T 92 F#47 A2

15 8 9 ? 32 825

01. 10 02. 12
03. 15 04. 18

05. i FAE AE

Solution for Question 80

eng

15x.5+.5=8
8x1+1=9
9x15+15=15
15x2+2=32
32x25+25=825

15x.5+.5=8
8x1+1=9
9%x15+15=15
15x2+2=32
32%x25+25=825



